
 

 

 

 

 

 

𝑖𝑛𝑑𝑖𝑐𝑎𝑡𝑜𝑟 𝑠𝑐𝑜𝑟𝑒 = 1 − 
𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑜𝑖𝑙 𝑠𝑝𝑖𝑙𝑙 𝑡𝑜𝑡𝑎𝑙 (𝑏𝑏𝑙)

ℎ𝑖𝑔ℎ𝑒𝑠𝑡 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑜𝑖𝑙 𝑠𝑝𝑖𝑙𝑙 𝑡𝑜𝑡𝑎𝑙 (𝑏𝑏𝑙) 



 

0.92 = 1 −  
1,000

12,131

𝑖𝑛𝑑𝑖𝑐𝑎𝑡𝑜𝑟 𝑠𝑐𝑜𝑟𝑒 = 1 −
𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑜𝑖𝑙 𝑠𝑝𝑖𝑙𝑙𝑠

ℎ𝑖𝑔ℎ𝑒𝑠𝑡 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑠𝑝𝑖𝑙𝑙𝑠

0.91 =  1 −  
20

229 

𝑖𝑛𝑑𝑖𝑐𝑎𝑡𝑜𝑟 𝑠𝑐𝑜𝑟𝑒 =
𝑡𝑜𝑡𝑎𝑙 𝑜𝑖𝑙 𝑟𝑒𝑚𝑜𝑣𝑒𝑑 𝑝𝑒𝑟 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 (𝑏𝑏𝑙)

𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑜𝑖𝑙 𝑠𝑝𝑖𝑙𝑙 𝑡𝑜𝑡𝑎𝑙 (𝑏𝑏𝑙) 

0.10 =
100

1000 



 

𝑖𝑛𝑑𝑖𝑐𝑎𝑡𝑜𝑟 𝑠𝑐𝑜𝑟𝑒 = 1 −  
𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑔𝑎𝑠 𝑓𝑙𝑎𝑟𝑒 𝑡𝑜𝑡𝑎𝑙 (𝑚𝑠𝑐𝑓)

ℎ𝑖𝑔ℎ𝑒𝑠𝑡 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑔𝑎𝑠 𝑓𝑙𝑎𝑟𝑒 𝑡𝑜𝑡𝑎𝑙 (𝑚𝑠𝑐𝑓) 

 

0.93 = 1 −  
10,000,000

145,395,765 

𝑖𝑛𝑑𝑖𝑐𝑎𝑡𝑜𝑟 𝑠𝑐𝑜𝑟𝑒 = 1 − 
𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛𝑠 𝑟𝑎𝑡𝑖𝑜 

ℎ𝑖𝑔ℎ𝑒𝑠𝑡 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛𝑠 𝑟𝑎𝑡𝑖𝑜

𝑡𝑜𝑡𝑎𝑙 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛𝑠 (𝐵𝑂𝐸) = 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑜𝑖𝑙 𝑠𝑝𝑖𝑙𝑙 𝑡𝑜𝑡𝑎𝑙 (𝑏𝑏𝑙) + 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑔𝑎𝑠 𝑓𝑙𝑎𝑟𝑒 𝑡𝑜𝑡𝑎𝑙 (𝐵𝑂𝐸)

𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑔𝑎𝑠 𝑓𝑙𝑎𝑟𝑒 𝑡𝑜𝑡𝑎𝑙 (𝐵𝑂𝐸) = 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑔𝑎𝑠 𝑓𝑙𝑎𝑟𝑒 𝑡𝑜𝑡𝑎𝑙 (𝑚𝑠𝑐𝑓) 𝑥 0.167



 

836,000 = 1,000 + (5,000,000 x 0.167)

 

𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛𝑠 𝑟𝑎𝑡𝑖𝑜 =
𝑡𝑜𝑡𝑎𝑙 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛𝑠 (𝐵𝑂𝐸)

𝑎𝑛𝑛𝑢𝑎𝑙 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑜𝑖𝑙 𝑝𝑟𝑜𝑑𝑢𝑐𝑡𝑖𝑜𝑛 (𝑏𝑏𝑙)

0.167 =
836,000

5,000,000

8.289 =
0 + (782,328 𝑥 0.167)

15,762

𝑖𝑛𝑑𝑖𝑐𝑎𝑡𝑜𝑟 𝑠𝑐𝑜𝑟𝑒 = 1 − 
𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛𝑠 𝑟𝑎𝑡𝑖𝑜 

ℎ𝑖𝑔ℎ𝑒𝑠𝑡 𝑐𝑜𝑚𝑝𝑎𝑛𝑦 𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛𝑠 𝑟𝑎𝑡𝑖𝑜

 

0.98 = 1 −  
0.167

8.289 



 

                                                           
1 These can be altered by users in the database, which we have published online. 
2 Of course, the size and proximity of human population centres to spill sites is a variable here. These indicators are imperfect, and may be 
revised in future versions of this Index.  



 

                                                           
3 Eg https://www.edf.org/sites/default/files/documents/EDF_TakingAim.pdf. 

https://nosdra.oilspillmonitor.ng/
https://nosdra.gasflaretracker.ng/
https://www.edf.org/sites/default/files/documents/EDF_TakingAim.pdf


 

                                                           
4 This does not mean that there were no other spills, however, only that they were not reported; logistical and security 
issues mean access to many parts of the Niger Delta is difficult.  



 


